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1 P X —F 4,24 (H) |09 :15 |Hhyh—
2 | X 4,24 (H) |10:30 |HYyh—
3 wH X B 4,24 (H) |11 :45 |HYvyh—
4 IR X &= 4,24 (H)|13:00 |Hfiryh—1
5 HE X FCE& 4,24 (H) | 14:15 |HYPoyh—
6 | ME X F70U¥% 4,24 (H) | 15:30 |Hi¥yr—i
i

1 FCEJII X &N 4,30 () |09 :15 |Hfiryh—4
2 FEER X fEEE 4,30 () |10:30 |HiVyh—if
3 FES X TS 4,30 () |11:45 |HYPoys—
4 &R X A 4,30 (1) |13:00 |Hiryh—4
5 HE X —= 4,30 (k) |14:15 |HPyh—
6 TV % X UNEH 430 () |15:30 |y r—
i

1 FED X &R 5/3 () 09:15 |ty r—8
2 | R X i 5,3 (#) 10:30 |Hitryh—5
3 M X RHA 5/3 () 11:45 |y h—%;
4 B OX P 5/3 (#il) 13:00 |y h—%;
5 T7IrYy X fHE 5,3 (f) 14:15 |Mitryh—4
6 70V % X —H 5,3 (f) 15:30 |ty h—4
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